

# Tutorial on provability algebras

## Lecture 2

### Manipulating and ordering worms

Joost J. Joosten

Dept. Lògica, Història i Filosofia de la Ciència  
Universitat de Barcelona

Monday 16-04-2012  
Wormshop, Barcelona

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:
- ▶

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:



$$T_0 \quad := \quad T;$$

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:



$$\begin{aligned} T_0 &:= T; \\ T_{\alpha+1} &:= T_\alpha + \text{Con}(T_\alpha); \end{aligned}$$

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:



$$\begin{aligned}
 T_0 &:= T; \\
 T_{\alpha+1} &:= T_\alpha + \text{Con}(T_\alpha); \\
 T_\lambda &:= \bigcup_{\alpha < \lambda} T_\alpha \quad \text{for limit } \lambda.
 \end{aligned}$$



- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:



$$\begin{aligned}
 T_0 &:= T; \\
 T_{\alpha+1} &:= T_\alpha + \text{Con}(T_\alpha); \\
 T_\lambda &:= \bigcup_{\alpha < \lambda} T_\alpha \quad \text{for limit } \lambda.
 \end{aligned}$$

- ▶ Turing progressions can be used for an ordinal analysis:

- ▶ Gödel 2: for sound recursive theories  $T$  that can code syntax:
- ▶  $T \not\vdash \text{Con}(T)$
- ▶ Turing progressions:



$$\begin{aligned}
 T_0 &:= T; \\
 T_{\alpha+1} &:= T_\alpha + \text{Con}(T_\alpha); \\
 T_\lambda &:= \bigcup_{\alpha < \lambda} T_\alpha \quad \text{for limit } \lambda.
 \end{aligned}$$

- ▶ Turing progressions can be used for an ordinal analysis:
- ▶ “how often should I iterate a finitistic base theory  $T$  as to approximate a target theory  $U$ :  $T_\xi \approx U$ ”

- ▶ Poly-modal provability logics turn out to be suitably well equipped to talk about Turing progressions

- ▶ Poly-modal provability logics turn out to be suitably well equipped to talk about Turing progressions
- ▶ These logics have been studied by Japaridze

- ▶ Poly-modal provability logics turn out to be suitably well equipped to talk about Turing progressions
- ▶ These logics have been studied by Japaridze
- ▶ We often not distinguish a modal formula and its interpretation

- ▶ Already just the language with one modality  $[0]$  is expressive

- ▶ Already just the language with one modality  $[0]$  is expressive
- ▶ Gödel II:  $\Diamond_T \top \rightarrow \Diamond_T \Box_T \perp$

- ▶ Already just the language with one modality  $[0]$  is expressive
- ▶ Gödel II:  $\diamond_T \top \rightarrow \diamond_T \Box_T \perp$
- ▶ For  $n \in \mathbb{N}$  we see  $T_n \equiv T + \diamond_T^n \top$



- ▶ Already just the language with one modality  $[0]$  is expressive
- ▶ Gödel II:  $\diamond_T \top \rightarrow \diamond_T \Box_T \perp$
- ▶ For  $n \in \mathbb{N}$  we see  $T_n \equiv T + \diamond_T^n \top$
- ▶ Transfinite progressions are not expressible in the modal language with just one modal operator.

- ▶ Already just the language with one modality  $[0]$  is expressive
- ▶ Gödel II:  $\diamond_T \top \rightarrow \diamond_T \Box_T \perp$
- ▶ For  $n \in \mathbb{N}$  we see  $T_n \equiv T + \diamond_T^n \top$
- ▶ Transfinite progressions are not expressible in the modal language with just one modal operator.
- ▶ However:

- ▶ Already just the language with one modality  $[0]$  is expressive
- ▶ Gödel II:  $\Diamond_T \top \rightarrow \Diamond_T \Box_T \perp$
- ▶ For  $n \in \mathbb{N}$  we see  $T_n \equiv T + \Diamond_T^n \top$
- ▶ Transfinite progressions are not expressible in the modal language with just one modal operator.
- ▶ However:
- ▶ **Proposition:**  $T + \langle n+1 \rangle_T \top$  is a  $\Pi_{n+1}$  conservative extension of  $T + \{ \langle n \rangle_T^k \top \mid k \in \omega \}$ .

## Definition

For  $\Lambda$  an ordinal, the logic  $GLP_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

## Definition

For  $\Lambda$  an ordinal, the logic  $GLP_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$[\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi)$$

## Definition

For  $\Lambda$  an ordinal, the logic  $\text{GLP}_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$\begin{aligned} &[\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi) \\ &[\alpha]([\alpha]\chi \rightarrow \chi) \rightarrow [\alpha]\chi \end{aligned}$$

## Definition

For  $\Lambda$  an ordinal, the logic  $GLP_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$\begin{aligned}
 & [\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi) \\
 & [\alpha]([\alpha]\chi \rightarrow \chi) \rightarrow [\alpha]\chi \\
 & \langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi \qquad \text{for } \alpha < \beta,
 \end{aligned}$$

## Definition

For  $\Lambda$  an ordinal, the logic  $\text{GLP}_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$\begin{aligned} &[\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi) \\ &[\alpha]([\alpha]\chi \rightarrow \chi) \rightarrow [\alpha]\chi \\ &\langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi && \text{for } \alpha < \beta, \\ &[\alpha]\psi \rightarrow [\beta]\psi && \text{for } \alpha \leq \beta. \end{aligned}$$



## Definition

For  $\Lambda$  an ordinal, the logic  $\text{GLP}_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$\begin{array}{ll}
 [\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi) & \\
 [\alpha]([\alpha]\chi \rightarrow \chi) \rightarrow [\alpha]\chi & \\
 \langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi & \text{for } \alpha < \beta, \\
 [\alpha]\psi \rightarrow [\beta]\psi & \text{for } \alpha \leq \beta.
 \end{array}$$

The rules of inference are Modus Ponens and necessitation for each modality:  $\frac{\psi}{[\alpha]\psi}$ .

## Definition

For  $\Lambda$  an ordinal, the logic  $GLP_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$\begin{aligned} & [\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi) \\ & [\alpha]([\alpha]\chi \rightarrow \chi) \rightarrow [\alpha]\chi \\ & \langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi && \text{for } \alpha < \beta, \\ & [\alpha]\psi \rightarrow [\beta]\psi && \text{for } \alpha \leq \beta. \end{aligned}$$

The rules of inference are Modus Ponens and necessitation for each modality:  $\frac{\psi}{[\alpha]\psi}$ . By GLP we denote the class-size logic that has a modality  $[\alpha]$  for each ordinal  $\alpha$  and all the corresponding axioms and rules.

## Definition

For  $\Lambda$  an ordinal, the logic  $\text{GLP}_\Lambda$  is the propositional normal modal logic that has for each  $\alpha < \Lambda$  a modality  $[\alpha]$  and is axiomatized by the following schemata:

$$\begin{aligned} & [\alpha](\chi \rightarrow \psi) \rightarrow ([\alpha]\chi \rightarrow [\alpha]\psi) \\ & [\alpha]([\alpha]\chi \rightarrow \chi) \rightarrow [\alpha]\chi \\ & \langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi && \text{for } \alpha < \beta, \\ & [\alpha]\psi \rightarrow [\beta]\psi && \text{for } \alpha \leq \beta. \end{aligned}$$

The rules of inference are Modus Ponens and necessitation for each modality:  $\frac{\psi}{[\alpha]\psi}$ . By  $\text{GLP}$  we denote the class-size logic that has a modality  $[\alpha]$  for each ordinal  $\alpha$  and all the corresponding axioms and rules. **GL** refers to  $\text{GLP}_1$ .

For Turing progressions a particular interest lies in  $GLP_{\Lambda}^0$ : the closed fragment

For Turing progressions a particular interest lies in  $\text{GLP}_\Lambda^0$ : the closed fragment

### Definition (Worms, $S$ , $S_\alpha$ )

By  $S$  we denote the set of *worms* of GLP which is inductively defined as  $\top \in S$  and  $A \in S \Rightarrow \langle \alpha \rangle A \in S$ .

For Turing progressions a particular interest lies in  $GLP_{\Lambda}^0$ : the closed fragment

### Definition (Worms, $S$ , $S_{\alpha}$ )

By  $S$  we denote the set of *worms* of GLP which is inductively defined as  $\top \in S$  and  $A \in S \Rightarrow \langle \alpha \rangle A \in S$ .

Similarly, we inductively define for each ordinal  $\alpha$  the set of worms  $S_{\alpha}$  where all ordinals are at least  $\alpha$  as  $\top \in S_{\alpha}$  and  $A \in S_{\alpha} \wedge \beta \geq \alpha \Rightarrow \langle \beta \rangle A \in S$ .

- ▶ Worms form the backbone of  $GLP^0$

- ▶ Worms form the backbone of  $GLP^0$
- ▶ Each closed formula is provably equivalent to a Boolean combination of worms



- ▶ Worms form the backbone of  $GLP^0$
- ▶ Each closed formula is provably equivalent to a Boolean combination of worms
- ▶  $GLP^0_\Lambda$  is decidable if  $\Lambda$  is

- ▶ Worms form the backbone of  $GLP^0$
- ▶ Each closed formula is provably equivalent to a Boolean combination of worms
- ▶  $GLP^0_\Lambda$  is decidable if  $\Lambda$  is
- ▶ Decision procedure factors through the worms

- ▶ Worms form the backbone of  $GLP^0$
- ▶ Each closed formula is provably equivalent to a Boolean combination of worms
- ▶  $GLP^0_\Lambda$  is decidable if  $\Lambda$  is
- ▶ Decision procedure factors through the worms
- ▶ Various axioms can be restricted to worms

- ▶ Worms of  $GLP_\omega$  are known to be useful for Turing progressions:

- ▶ Worms of  $GLP_\omega$  are known to be useful for Turing progressions:
- ▶ **Proposition** For each ordinal  $\alpha < \epsilon_0$  there is some  $GLP_\omega$ -worm  $A$  such that  $T + A$  is  $\Pi_1$  equivalent to  $T_\alpha$ .

- ▶ Worms of  $GLP_\omega$  are known to be useful for Turing progressions:
- ▶ **Proposition** For each ordinal  $\alpha < \epsilon_0$  there is some  $GLP_\omega$ -worm  $A$  such that  $T + A$  is  $\Pi_1$  equivalent to  $T_\alpha$ .
- ▶ To get generalizations of this lemma beyond  $\epsilon_0$  one should consider more than  $\omega$  modalities.

- ▶ Worms of  $GLP_\omega$  are known to be useful for Turing progressions:
- ▶ **Proposition** For each ordinal  $\alpha < \epsilon_0$  there is some  $GLP_\omega$ -worm  $A$  such that  $T + A$  is  $\Pi_1$  equivalent to  $T_\alpha$ .
- ▶ To get generalizations of this lemma beyond  $\epsilon_0$  one should consider more than  $\omega$  modalities.
- ▶  $[\alpha]$  should be read as “provable in EA together with all true hyperarithmetical sentences of level  $\alpha$ ”

- ▶ Worms of  $GLP_\omega$  are known to be useful for Turing progressions:
- ▶ **Proposition** For each ordinal  $\alpha < \epsilon_0$  there is some  $GLP_\omega$ -worm  $A$  such that  $T + A$  is  $\Pi_1$  equivalent to  $T_\alpha$ .
- ▶ To get generalizations of this lemma beyond  $\epsilon_0$  one should consider more than  $\omega$  modalities.
- ▶  $[\alpha]$  should be read as “provable in EA together with all true hyperarithmetical sentences of level  $\alpha$ ”
- ▶ This talk focuses on the modal calculus involved in such generalizations.



- ▶ Sloppy notations for worms:

- ▶ Sloppy notations for worms:
- ▶  $\omega 0 \omega$ ,

- ▶ Sloppy notations for worms:
- ▶  $\omega 0\omega$ ,
- ▶  $\langle \omega \rangle 0\omega$ ,

- ▶ Sloppy notations for worms:
- ▶  $\omega 0 \omega$ ,
- ▶  $\langle \omega \rangle 0 \omega$ ,
- ▶ or  $\langle \omega \rangle \langle 0 \rangle \langle \omega \rangle \top$ .

## Lemma

1. For worms  $A$  and  $B$ ,  $GLP \vdash AB \rightarrow A$

## Lemma

1. For worms  $A$  and  $B$ ,  $\text{GLP} \vdash AB \rightarrow A$
2. For worms  $A$  and  $B$ , if  $\beta < \alpha$ , then  
 $\text{GLP} \vdash (\langle \alpha \rangle A \wedge \langle \beta \rangle B) \leftrightarrow \langle \alpha \rangle (A \wedge \langle \beta \rangle B)$ ;

## Lemma

1. For worms  $A$  and  $B$ ,  $\text{GLP} \vdash AB \rightarrow A$
2. For worms  $A$  and  $B$ , if  $\beta < \alpha$ , then  
 $\text{GLP} \vdash (\langle \alpha \rangle A \wedge \langle \beta \rangle B) \leftrightarrow \langle \alpha \rangle (A \wedge \langle \beta \rangle B)$ ;
3. If  $A \in S_{\alpha+1}$ , then  $\text{GLP} \vdash A \wedge \langle \alpha \rangle B \leftrightarrow A\alpha B$ ;

- ▶ 'The axiom  $\langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi$  for  $\alpha < \beta$ , implies the existence of many smaller worms':



- ▶ 'The axiom  $\langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi$  for  $\alpha < \beta$ , implies the existence of many smaller worms':
- ▶  $\text{GLP} \vdash \langle 1 \rangle \top \rightarrow \langle 0 \rangle^n \top$  for any  $n \in \omega$

- ▶ 'The axiom  $\langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi$  for  $\alpha < \beta$ , implies the existence of many smaller worms':
- ▶  $\text{GLP} \vdash \langle 1 \rangle \top \rightarrow \langle 0 \rangle^n \top$  for any  $n \in \omega$
- ▶ But also  $\text{GLP} \vdash \langle 1 \rangle \langle 0 \rangle \langle 1 \rangle \top \rightarrow \langle 0 \rangle \langle 1 \rangle \top$

- ▶ 'The axiom  $\langle \alpha \rangle \psi \rightarrow [\beta] \langle \alpha \rangle \psi$  for  $\alpha < \beta$ , implies the existence of many smaller worms':
- ▶  $\text{GLP} \vdash \langle 1 \rangle \top \rightarrow \langle 0 \rangle^n \top$  for any  $n \in \omega$
- ▶ But also  $\text{GLP} \vdash \langle 1 \rangle \langle 0 \rangle \langle 1 \rangle \top \rightarrow \langle 0 \rangle \langle 1 \rangle \top$
- ▶ We will order the worms based on these sort of implications

## Definition ( $<$ , $<_\alpha$ , $\mathcal{O}$ , $\mathcal{O}_\alpha$ )

We define a relation  $<_\alpha$  on  $S_\alpha \times S_\alpha$  by

$$A <_\alpha B \iff \text{GLP} \vdash B \rightarrow \langle \alpha \rangle A \quad (\text{with } A, B \in S_\alpha).$$

## Definition ( $<, <_\alpha, o, o_\alpha$ )

We define a relation  $<_\alpha$  on  $S_\alpha \times S_\alpha$  by

$$A <_\alpha B \iff \text{GLP} \vdash B \rightarrow \langle \alpha \rangle A \quad (\text{with } A, B \in S_\alpha).$$

For  $A \in S_\alpha$  we denote by  $o_\alpha(A)$  the order type of  $\{B \in S_\alpha \mid B <_\alpha A\}$ .

## Definition ( $<, <_\alpha, o, o_\alpha$ )

We define a relation  $<_\alpha$  on  $S_\alpha \times S_\alpha$  by

$$A <_\alpha B \text{ :}\Leftrightarrow \text{GLP} \vdash B \rightarrow \langle \alpha \rangle A \quad (\text{with } A, B \in S_\alpha).$$

For  $A \in S_\alpha$  we denote by  $o_\alpha(A)$  the order type of  $\{B \in S_\alpha \mid B <_\alpha A\}$ . More precisely, for  $A \in S_\alpha$  we define inductively  $o_\alpha(A) = \sup\{o_\alpha(B) + 1 : B \in S_\alpha \ \& \ B <_\alpha A\}$ , where  $\sup \emptyset = 0$ .

## Definition ( $<, <_\alpha, o, o_\alpha$ )

We define a relation  $<_\alpha$  on  $S_\alpha \times S_\alpha$  by

$$A <_\alpha B \quad :\Leftrightarrow \quad \text{GLP} \vdash B \rightarrow \langle \alpha \rangle A \quad (\text{with } A, B \in S_\alpha).$$

For  $A \in S_\alpha$  we denote by  $o_\alpha(A)$  the order type of  $\{B \in S_\alpha \mid B <_\alpha A\}$ . More precisely, for  $A \in S_\alpha$  we define inductively  $o_\alpha(A) = \sup\{o_\alpha(B) + 1 : B \in S_\alpha \ \& \ B <_\alpha A\}$ , where  $\sup \emptyset = 0$ .

When  $X$  is a set or class we shall denote by  $o_\alpha(X)$  the image of  $X$  under  $o_\alpha$ .

## Definition ( $<, <_\alpha, o, o_\alpha$ )

We define a relation  $<_\alpha$  on  $S_\alpha \times S_\alpha$  by

$$A <_\alpha B \text{ :}\Leftrightarrow \text{GLP} \vdash B \rightarrow \langle \alpha \rangle A \quad (\text{with } A, B \in S_\alpha).$$

For  $A \in S_\alpha$  we denote by  $o_\alpha(A)$  the order type of  $\{B \in S_\alpha \mid B <_\alpha A\}$ . More precisely, for  $A \in S_\alpha$  we define inductively  $o_\alpha(A) = \sup\{o_\alpha(B) + 1 : B \in S_\alpha \ \& \ B <_\alpha A\}$ , where  $\sup \emptyset = 0$ .

When  $X$  is a set or class we shall denote by  $o_\alpha(X)$  the image of  $X$  under  $o_\alpha$ .

Instead of  $<_0$  and  $o_0$  we shall write  $<$  and  $o$ , respectively.



- ▶ For  $A, B \in S_\alpha$ ,  $A <_\alpha B$  implies  $A < B$

- ▶ For  $A, B \in S_\alpha$ ,  $A <_\alpha B$  implies  $A < B$
- ▶  $<_\alpha$  is transitive on  $S_\alpha \times S_\alpha$

- ▶ For  $A, B \in S_\alpha$ ,  $A <_\alpha B$  implies  $A < B$
- ▶  $<_\alpha$  is transitive on  $S_\alpha \times S_\alpha$
- ▶  $<_\alpha$  is irreflexive on  $S_\alpha \times S_\alpha$  ([I], [BJV], [BFJ], [FJ])

- ▶ For  $A, B \in S_\alpha$ ,  $A <_\alpha B$  implies  $A < B$
- ▶  $<_\alpha$  is transitive on  $S_\alpha \times S_\alpha$
- ▶  $<_\alpha$  is irreflexive on  $S_\alpha \times S_\alpha$  ([I], [BJV], [BFJ], [FJ])
- ▶ If restricted to some set of normal forms,  $<_\alpha$  is total on  $S_\alpha \times S_\alpha$  ([B])

- ▶ For  $A, B \in S_\alpha$ ,  $A <_\alpha B$  implies  $A < B$
- ▶  $<_\alpha$  is transitive on  $S_\alpha \times S_\alpha$
- ▶  $<_\alpha$  is irreflexive on  $S_\alpha \times S_\alpha$  ([I], [BJV], [BFJ], [FJ])
- ▶ If restricted to some set of normal forms,  $<_\alpha$  is total on  $S_\alpha \times S_\alpha$  ([B])
- ▶ If irreflexive,  $<_\alpha$  is a well-order on  $S_\alpha \times S_\alpha$  ([B])



## Definition (Beklemishev Normal Form)

A worm  $A \in S$  is in BNF (Beklemishev Normal Form) iff

## Definition (Beklemishev Normal Form)

A worm  $A \in S$  is in BNF (Beklemishev Normal Form) iff

1.  $A = \lambda$             or,



## Definition (Beklemishev Normal Form)

A worm  $A \in S$  is in BNF (Beklemishev Normal Form) iff

1.  $A = \lambda$  or,
2.  $A$  is of the form  $A_k \alpha \dots \alpha A_1$  with  $\alpha = \min(A)$ ,  $k \geq 1$  and  $A_i \in S_{\alpha+1}$  such that each  $A_i$  is in BNF and moreover  $A_{i+1} \leq_{\alpha+1} A_i$  for each  $i < k$ .

## Definition (Beklemishev Normal Form)

A worm  $A \in S$  is in BNF (Beklemishev Normal Form) iff

1.  $A = \lambda$  or,
2.  $A$  is of the form  $A_k \alpha \dots \alpha A_1$  with  $\alpha = \min(A)$ ,  $k \geq 1$  and  $A_i \in S_{\alpha+1}$  such that each  $A_i$  is in BNF and moreover  $A_{i+1} \leq_{\alpha+1} A_i$  for each  $i < k$ .

## Lemma

Each worm of the form  $\alpha^n$ , i.e.,  $\overbrace{\langle \alpha \rangle \dots \langle \alpha \rangle}^{n \text{ times}} \top$ , is in BNF.

## Definition (Beklemishev Normal Form)

A worm  $A \in S$  is in BNF (Beklemishev Normal Form) iff

1.  $A = \lambda$  or,
2.  $A$  is of the form  $A_k \alpha \dots \alpha A_1$  with  $\alpha = \min(A)$ ,  $k \geq 1$  and  $A_i \in S_{\alpha+1}$  such that each  $A_i$  is in BNF and moreover  $A_{i+1} \leq_{\alpha+1} A_i$  for each  $i < k$ .

## Lemma

Each worm of the form  $\alpha^n$ , i.e.,  $\overbrace{\langle \alpha \rangle \dots \langle \alpha \rangle}^{n \text{ times}} \top$ , is in BNF.

## Proof.

This is immediate if we conceive  $\alpha^n$  as  $\lambda \alpha \lambda \dots \lambda \alpha \lambda$ . □

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\text{GLP} \vdash A \rightarrow A_1 \wedge \alpha A_0 \text{rest}$$

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \end{aligned}$$

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$



## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$

Other direction:

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$

$$A_1 \text{rest} \rightarrow A_1 \text{rest} \wedge \langle \alpha + 1 \rangle A_0$$

Other direction:

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$

$$A_1 \text{rest} \rightarrow A_1 \text{rest} \wedge \langle \alpha + 1 \rangle A_0$$

Other direction:  $\rightarrow A_1 \wedge \text{rest} \wedge \langle \alpha + 1 \rangle A_0$

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$

$$\begin{aligned} A_1 \text{rest} &\rightarrow A_1 \text{rest} \wedge \langle \alpha + 1 \rangle A_0 \\ \text{Other direction:} &\rightarrow A_1 \wedge \text{rest} \wedge \langle \alpha + 1 \rangle A_0 \\ &\rightarrow A_1 \wedge \langle \alpha + 1 \rangle A_0 \text{rest} \end{aligned}$$

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$

Other direction:

$$\begin{aligned} A_1 \text{rest} &\rightarrow A_1 \text{rest} \wedge \langle \alpha + 1 \rangle A_0 \\ &\rightarrow A_1 \wedge \text{rest} \wedge \langle \alpha + 1 \rangle A_0 \\ &\rightarrow A_1 \wedge \langle \alpha + 1 \rangle A_0 \text{rest} \\ &\rightarrow A_1 \wedge \langle \alpha \rangle A_0 \text{rest} \end{aligned}$$

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Proof

$$\begin{aligned} \text{GLP} \vdash A &\rightarrow A_1 \wedge \alpha A_0 \text{rest} \\ &\rightarrow A_1 \wedge \text{rest} \\ &\rightarrow A_1 \text{rest}. \end{aligned}$$

Other direction:

$$\begin{aligned} A_1 \text{rest} &\rightarrow A_1 \text{rest} \wedge \langle \alpha + 1 \rangle A_0 \\ &\rightarrow A_1 \wedge \text{rest} \wedge \langle \alpha + 1 \rangle A_0 \\ &\rightarrow A_1 \wedge \langle \alpha + 1 \rangle A_0 \text{rest} \\ &\rightarrow A_1 \wedge \langle \alpha \rangle A_0 \text{rest} \\ &\rightarrow A_1 \alpha A_0 \text{rest}. \end{aligned}$$

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Corollary

Each worm in  $S_\alpha$  is equivalent to one in  $S_\alpha$  in BNF



## Lemma

Let  $A := A_1 \alpha A_0 \text{rest}$  with ( $\text{rest} = \epsilon$  or  $\text{rest} = \alpha A'$ ) and each of  $A_1, A_0$  in  $S_{\alpha+1}$ .

If  $\text{GLP} \vdash A_1 \rightarrow \langle \alpha + 1 \rangle A_0$ , then  $\text{GLP} \vdash A \leftrightarrow A_1 \text{rest}$ .

## Corollary

Each worm in  $S_\alpha$  is equivalent to one in  $S_\alpha$  in BNF

## Proof.

Apply (inductively) the lemma to ‘subworms in violating order’  $\square$

- ▶ BNFs are very similar to CNFs but possess a richer structure

- ▶ BNFs are very similar to CNFs but possess a richer structure
- ▶ BNFs are unique

- ▶ BNFs are very similar to CNFs but possess a richer structure
- ▶ BNFs are unique
- ▶  $<_{\alpha}$  well-orders  $S_{\alpha} \cap \text{BNF}$

- ▶ BNFs are very similar to CNFs but possess a richer structure
- ▶ BNFs are unique
- ▶  $<_{\alpha}$  well-orders  $S_{\alpha} \cap \text{BNF}$
- ▶ In particular:

- ▶ BNFs are very similar to CNFs but possess a richer structure
- ▶ BNFs are unique
- ▶  $<_\alpha$  well-orders  $S_\alpha \cap \text{BNF}$
- ▶ In particular:

### Lemma

*The map  $o : (\text{BNF}, <_0) \rightarrow (\text{Ord}, <)$  defines an isomorphism.*

## Lemma

*Let  $A$  be any worm.*

1.  $o(\lambda) = 0$ ,

## Lemma

*Let  $A$  be any worm.*

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,



## Lemma

Let  $A$  be any worm.

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,
3. If  $A = A_k 0 \dots A_1 \in \text{BNF}$  with all  $A_i \in S_1$  and not all of them empty, then  $o(A) = \omega^{o_1(A_1)} + \dots + \omega^{o_1(A_k)}$ . For  $k = 1$ ,  $A_k 0 \dots A_1$  just denotes  $A_1$ .

## Lemma

Let  $A$  be any worm.

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,
3. If  $A = A_k 0 \dots A_1 \in \text{BNF}$  with all  $A_i \in S_1$  and not all of them empty, then  $o(A) = \omega^{\text{ot}(A_1)} + \dots + \omega^{\text{ot}(A_k)}$ . For  $k = 1$ ,  $A_k 0 \dots A_1$  just denotes  $A_1$ .

We need an operation that lowers ordinals in worms to have our calculus going

- ▶ Ordinal numbers share various properties with the natural numbers

- ▶ Ordinal numbers share various properties with the natural numbers
- ▶ but different:  $1 + \omega = \omega \neq \omega + 1$

- ▶ Ordinal numbers share various properties with the natural numbers
- ▶ but different:  $1 + \omega = \omega \neq \omega + 1$
- ▶ however:

- ▶ Ordinal numbers share various properties with the natural numbers
- ▶ but different:  $1 + \omega = \omega \neq \omega + 1$
- ▶ however:
- ▶  $\forall \zeta < \xi \exists! \eta \zeta + \eta = \xi$   
(We will denote this unique  $\eta$  by  $-\zeta + \xi$ ),

## Definition ( $\alpha \uparrow$ and $\alpha \downarrow$ )

Let  $A$  be a worm and  $\alpha$  an ordinal.

## Definition ( $\alpha \uparrow$ and $\alpha \downarrow$ )

Let  $A$  be a worm and  $\alpha$  an ordinal. By  $\alpha \uparrow A$  we denote the worm that is obtained by simultaneously substituting each  $\beta$  that occurs in  $A$  by  $\alpha + \beta$ .



## Definition ( $\alpha \uparrow$ and $\alpha \downarrow$ )

Let  $A$  be a worm and  $\alpha$  an ordinal. By  $\alpha \uparrow A$  we denote the worm that is obtained by simultaneously substituting each  $\beta$  that occurs in  $A$  by  $\alpha + \beta$ .

Likewise, if  $A \in S_\alpha$  we denote by  $\alpha \downarrow A$  the worm that is obtained by replacing simultaneously each  $\beta$  in  $A$  by  $-\alpha + \beta$ .

## Lemma

$$1. \alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma,$$

## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,

## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,
3.  $\alpha \downarrow (\alpha \uparrow A) = A$ ,

## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,
3.  $\alpha \downarrow (\alpha \uparrow A) = A$ ,
4.  $\alpha \uparrow (\beta \uparrow A) =$

## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,
3.  $\alpha \downarrow (\alpha \uparrow A) = A$ ,
4.  $\alpha \uparrow (\beta \uparrow A) = (\alpha + \beta) \uparrow A$ ,

## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,
3.  $\alpha \downarrow (\alpha \uparrow A) = A$ ,
4.  $\alpha \uparrow (\beta \uparrow A) = (\alpha + \beta) \uparrow A$ ,
5.  $\alpha \uparrow (\alpha \downarrow A) = A$  for  $A \in S_\alpha$ ,

## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,
3.  $\alpha \downarrow (\alpha \uparrow A) = A$ ,
4.  $\alpha \uparrow (\beta \uparrow A) = (\alpha + \beta) \uparrow A$ ,
5.  $\alpha \uparrow (\alpha \downarrow A) = A$  for  $A \in S_\alpha$ ,
6.  $A <_\alpha B \Leftrightarrow A < B$  for  $A, B \in S_\alpha$ ,



## Lemma

1.  $\alpha \uparrow \beta < \alpha \uparrow \gamma \Leftrightarrow \beta < \gamma$ ,
2.  $\alpha \uparrow \beta \geq \beta$ ,
3.  $\alpha \downarrow (\alpha \uparrow A) = A$ ,
4.  $\alpha \uparrow (\beta \uparrow A) = (\alpha + \beta) \uparrow A$ ,
5.  $\alpha \uparrow (\alpha \downarrow A) = A$  for  $A \in S_\alpha$ ,
6.  $A <_\alpha B \Leftrightarrow A < B$  for  $A, B \in S_\alpha$ ,
7.  $A <_\xi B \Leftrightarrow \alpha \uparrow A <_{\alpha+\xi} \alpha \uparrow B$  for  $A, B \in S_\xi$ .

- ▶  $\uparrow \alpha$  is a well-behaved operation:

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ ‘continuous’ on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ ‘continuous’ on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ ‘continuous’ on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,
- ▶ Thus  $\sup_{i \in I} \alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ 'continuous' on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,
- ▶ Thus  $\sup_{i \in I} \alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$
- ▶ Assume for contradiction that  $\sup_{i \in I} \alpha \uparrow A_i < \alpha \uparrow \sup_{i \in I} A_i$ .

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ 'continuous' on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,
- ▶ Thus  $\sup_{i \in I} \alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$
- ▶ Assume for contradiction that  $\sup_{i \in I} \alpha \uparrow A_i < \alpha \uparrow \sup_{i \in I} A_i$ .
- ▶ Then,  $t_\alpha(\sup_{i \in I} \alpha \uparrow A_i) <_\alpha \alpha \uparrow \sup_{i \in I} A_i$

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ 'continuous' on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,
- ▶ Thus  $\sup_{i \in I} \alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$
- ▶ Assume for contradiction that  $\sup_{i \in I} \alpha \uparrow A_i < \alpha \uparrow \sup_{i \in I} A_i$ .
- ▶ Then,  $t_\alpha(\sup_{i \in I} \alpha \uparrow A_i) <_\alpha \alpha \uparrow \sup_{i \in I} A_i$
- ▶ With  $t_\alpha(B)$  is the  $\alpha$ -tail of a worm  $B$



- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ ‘continuous’ on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,
- ▶ Thus  $\sup_{i \in I} \alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$
- ▶ Assume for contradiction that  $\sup_{i \in I} \alpha \uparrow A_i < \alpha \uparrow \sup_{i \in I} A_i$ .
- ▶ Then,  $t_\alpha(\sup_{i \in I} \alpha \uparrow A_i) <_\alpha \alpha \uparrow \sup_{i \in I} A_i$
- ▶ With  $t_\alpha(B)$  is the  $\alpha$ -tail of a worm  $B$
- ▶ and for each  $i$ ,  $\alpha \uparrow A_i \leq_\alpha t_\alpha(\sup_{i \in I} \alpha \uparrow A_i)$ .

- ▶  $\uparrow \alpha$  is a well-behaved operation:
- ▶ ‘continuous’ on  $S$ :

$$\alpha \uparrow \sup_i A_i = \sup_i \alpha \uparrow A_i.$$

- ▶ **Proof idea:** for each  $i$ ,  $\alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$ ,
- ▶ Thus  $\sup_{i \in I} \alpha \uparrow A_i \leq \alpha \uparrow \sup_{i \in I} A_i$
- ▶ Assume for contradiction that  $\sup_{i \in I} \alpha \uparrow A_i < \alpha \uparrow \sup_{i \in I} A_i$ .
- ▶ Then,  $t_\alpha(\sup_{i \in I} \alpha \uparrow A_i) <_\alpha \alpha \uparrow \sup_{i \in I} A_i$
- ▶ With  $t_\alpha(B)$  is the  $\alpha$ -tail of a worm  $B$
- ▶ and for each  $i$ ,  $\alpha \uparrow A_i \leq_\alpha t_\alpha(\sup_{i \in I} \alpha \uparrow A_i)$ .
- ▶ This yields a smaller upper-bound than  $\sup_{i \in I} A_i$  of the  $A_i$ .

- ▶ The map  $\alpha \uparrow$  is an isomorphism between  $(S, <)$  and  $(S_\alpha, <_\alpha)$ .

- ▶ The map  $\alpha \uparrow$  is an isomorphism between  $(S, <)$  and  $(S_\alpha, <_\alpha)$ .
- ▶ In particular:

- ▶ The map  $\alpha \uparrow$  is an isomorphism between  $(S, <)$  and  $(S_\alpha, <_\alpha)$ .
- ▶ In particular:

### Lemma

*For  $A \in S_\alpha$  we have*

$$o_\alpha(A) = o(\alpha \downarrow A).$$

## Lemma

*Let  $A$  be any worm.*

1.  $o(\lambda) = 0$ ,

## Lemma

*Let  $A$  be any worm.*

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,

## Lemma

Let  $A$  be any worm.

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,
3. If  $A = A_k 0 \dots A_1 \in \text{BNF}$  with all  $A_i \in S_1$  and not all of them empty, then  $o(A) = \omega^{o_1(A_1)} + \dots + \omega^{o_1(A_k)}$ . For  $k = 1$ ,  $A_k 0 \dots A_1$  just denotes  $A_1$ .



## Lemma

Let  $A$  be any worm.

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,
3. If  $A = A_k 0 \dots A_1 \in \text{BNF}$  with all  $A_i \in S_1$  and not all of them empty, then  $o(A) = \omega^{o_1(A_1)} + \dots + \omega^{o_1(A_k)}$ . For  $k = 1$ ,  $A_k 0 \dots A_1$  just denotes  $A_1$ .
4.  $o_\alpha(A) = o(\alpha \downarrow A)$ .

## Lemma

Let  $A$  be any worm.

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,
3. If  $A = A_k 0 \dots A_1 \in \text{BNF}$  with all  $A_i \in S_1$  and not all of them empty, then  $o(A) = \omega^{o_1(A_1)} + \dots + \omega^{o_1(A_k)}$ . For  $k = 1$ ,  $A_k 0 \dots A_1$  just denotes  $A_1$ .
4.  $o_\alpha(A) = o(\alpha \downarrow A)$ .

This determines  $o(A)$  for all  $\text{GLP}_\omega$  worms  $A$

## Lemma

Let  $A$  be any worm.

1.  $o(\lambda) = 0$ ,
2.  $o(0A) = o(A) + 1$ ,
3. If  $A = A_k 0 \dots A_1 \in \text{BNF}$  with all  $A_i \in S_1$  and not all of them empty, then  $o(A) = \omega^{o_1(A_1)} + \dots + \omega^{o_1(A_k)}$ . For  $k = 1$ ,  $A_k 0 \dots A_1$  just denotes  $A_1$ .
4.  $o_\alpha(A) = o(\alpha \downarrow A)$ .

This determines  $o(A)$  for all  $\text{GLP}_\omega$  worms  $A$

Let's see an example

- ▶ To go beyond  $\omega$

- ▶ To go beyond  $\omega$
- ▶ We would need to understand

- ▶ To go beyond  $\omega$
- ▶ We would need to understand
- ▶ **definition** $[e^\alpha]$  We define  $e^\alpha$  to be the function that enumerates  $o(S_\alpha)$ .

## Lemma

$o(S_\alpha)$  is enumerated by  $o \circ \alpha \uparrow \circ o^{-1}$ , that is,  $e^\alpha = o \circ \alpha \uparrow \circ o^{-1}$ .

## Proof.

$A <_\alpha B \Leftrightarrow A <_0 B \Leftrightarrow o(A) < o(B)$  for  $A, B \in S_\alpha$ .

## Lemma

$o(S_\alpha)$  is enumerated by  $o \circ \alpha \uparrow \circ o^{-1}$ , that is,  $e^\alpha = o \circ \alpha \uparrow \circ o^{-1}$ .

## Proof.

$A <_\alpha B \Leftrightarrow A <_0 B \Leftrightarrow o(A) < o(B)$  for  $A, B \in S_\alpha$ .

$$o : (S_\alpha, <_\alpha) \cong (o(S_\alpha), <).$$



## Lemma

$o(S_\alpha)$  is enumerated by  $o \circ \alpha \uparrow \circ o^{-1}$ , that is,  $e^\alpha = o \circ \alpha \uparrow \circ o^{-1}$ .

## Proof.

$A <_\alpha B \Leftrightarrow A <_0 B \Leftrightarrow o(A) < o(B)$  for  $A, B \in S_\alpha$ .

$$o : (S_\alpha, <_\alpha) \cong (o(S_\alpha), <).$$

$$\alpha \uparrow : (S, <_0) \cong (S_\alpha, <_\alpha).$$

## Lemma

$o(S_\alpha)$  is enumerated by  $o \circ \alpha \uparrow \circ o^{-1}$ , that is,  $e^\alpha = o \circ \alpha \uparrow \circ o^{-1}$ .

## Proof.

$A <_\alpha B \Leftrightarrow A <_0 B \Leftrightarrow o(A) < o(B)$  for  $A, B \in S_\alpha$ .

$$o : (S_\alpha, <_\alpha) \cong (o(S_\alpha), <).$$

$$\alpha \uparrow : (S, <_0) \cong (S_\alpha, <_\alpha).$$

$$o^{-1} : (\text{Ord}, <) \cong (S, <_0),$$

## Lemma

$o(S_\alpha)$  is enumerated by  $o \circ \alpha \uparrow \circ o^{-1}$ , that is,  $e^\alpha = o \circ \alpha \uparrow \circ o^{-1}$ .

## Proof.

$A <_\alpha B \Leftrightarrow A <_0 B \Leftrightarrow o(A) < o(B)$  for  $A, B \in S_\alpha$ .

$$o : (S_\alpha, <_\alpha) \cong (o(S_\alpha), <).$$

$$\alpha \uparrow : (S, <_0) \cong (S_\alpha, <_\alpha).$$

$$o^{-1} : (\text{Ord}, <) \cong (S, <_0),$$

By composing the isomorphisms

$$o \circ \alpha \uparrow \circ o^{-1} : (\text{Ord}, <) \cong (o(S_\alpha), <).$$

The following diagram commutes.

$$\begin{array}{ccc}
 \text{Wrm} & \xrightarrow{\alpha \uparrow} & \text{Wrm} \\
 \downarrow o & & \downarrow o \\
 \text{Ord} & \xrightarrow{e^\alpha} & \text{Ord}
 \end{array}$$

So  $o$  behaves like a functor between the category of worms and the category of ordinals.

## Corollary

$$o(\alpha \uparrow A) = e^\alpha o(A)$$

## Corollary

$$o(\alpha \uparrow A) = e^\alpha o(A)$$

## Proof.

We may assume  $A \in \text{BNF}$ , so

$$o(\alpha \uparrow A) = o(\alpha \uparrow o^{-1}(o(A))) = e^\alpha o(A). \quad \square$$

## Corollary

$$o(\alpha \uparrow A) = e^\alpha o(A)$$

## Proof.

We may assume  $A \in \text{BNF}$ , so

$$o(\alpha \uparrow A) = o(\alpha \uparrow o^{-1}(o(A))) = e^\alpha o(A). \quad \square$$

Thus, knowing  $e^\alpha$  completes our calculus

# Theorem



## Theorem

▶  $o(0^n) = n$ ;

## Theorem

- ▶  $o(0^n) = n$ ;
- ▶ If  $A = A_n 0 \dots A_1 \in I$  and  $A_1$  not empty, then  
$$o(A) = \omega^{o(1 \downarrow A_1)} + \dots + \omega^{o(1 \downarrow A_n)}$$
;

## Theorem

- ▶  $o(0^n) = n$ ;
- ▶ If  $A = A_n 0 \dots A_1 \in I$  and  $A_1$  not empty, then  
 $o(A) = \omega^{o(1 \downarrow A_1)} + \dots + \omega^{o(1 \downarrow A_n)}$ ;
- ▶  $o(\xi \uparrow A) = e^\xi o(A)$ ;

- ▶ A  $\Pi_1^0$  ordinal analysis can be based on Turing progressions

- ▶ A  $\Pi_1^0$  ordinal analysis can be based on Turing progressions
- ▶ Provability logics are good to describe Turing progressions

- ▶ A  $\Pi_1^0$  ordinal analysis can be based on Turing progressions
- ▶ Provability logics are good to describe Turing progressions
- ▶ The closed fragment of GLP provides a “natural” ordinal notation system

# END OF TUTORIAL 2

## Definition

For  $\alpha > 0$  we define  $\log^*(\alpha)$  to be  $\max\{\beta \mid \exists \gamma e^\beta(\gamma) = \alpha\}$ .



## Definition

For  $\alpha > 0$  we define  $\log^*(\alpha)$  to be  $\max\{\beta \mid \exists \gamma e^\beta(\gamma) = \alpha\}$ .

One can prove that this maximum exists

## Definition

For  $\alpha > 0$  we define  $\log^*(\alpha)$  to be  $\max\{\beta \mid \exists \gamma e^\beta(\gamma) = \alpha\}$ .

One can prove that this maximum exists

## Definition

The map  $w : \text{Ord} \rightarrow S$  is recursively defined as follows.

## Definition

For  $\alpha > 0$  we define  $\log^*(\alpha)$  to be  $\max\{\beta \mid \exists \gamma e^\beta(\gamma) = \alpha\}$ .

One can prove that this maximum exists

## Definition

The map  $w : \text{Ord} \rightarrow S$  is recursively defined as follows.

1.  $w(n) = 0^n$  for  $n \in \omega$  where  $0^0$  is defined to be  $\lambda$ ,

## Definition

For  $\alpha > 0$  we define  $\log^*(\alpha)$  to be  $\max\{\beta \mid \exists \gamma e^\beta(\gamma) = \alpha\}$ .

One can prove that this maximum exists

## Definition

The map  $w : \text{Ord} \rightarrow S$  is recursively defined as follows.

1.  $w(n) = 0^n$  for  $n \in \omega$  where  $0^0$  is defined to be  $\lambda$ ,
2. If  $\alpha =_{\text{CNF}} \omega^{\alpha_1} + \dots + \omega^{\alpha_n}$  with  $\alpha_1 > 0$ , then

$$w(\alpha) = 1 \uparrow w(\alpha_n) 0 \dots 0 1 \uparrow w(\alpha_1),$$

## Definition

For  $\alpha > 0$  we define  $\log^*(\alpha)$  to be  $\max\{\beta \mid \exists \gamma e^\beta(\gamma) = \alpha\}$ .

One can prove that this maximum exists

## Definition

The map  $w : \text{Ord} \rightarrow S$  is recursively defined as follows.

1.  $w(n) = 0^n$  for  $n \in \omega$  where  $0^0$  is defined to be  $\lambda$ ,
2. If  $\alpha =_{\text{CNF}} \omega^{\alpha_1} + \dots + \omega^{\alpha_n}$  with  $\alpha_1 > 0$ , then

$$w(\alpha) = 1 \uparrow w(\alpha_n) 0 \dots 0 1 \uparrow w(\alpha_1),$$

3. If  $\log^*(\alpha) > 0$ , then  $w(\alpha) = \log^*(\alpha) \uparrow w(1^{\log^*(\alpha)}(\alpha))$ .